| Upstream: Time in layer 1 | upstream_1] | Upstream: Time in layer 2 | upstream_2
Entries 533 Entries 1026
80__...i ............... E ............... :, ............... E.... 100-:
F : 43 : a : Mean 3.675 _: : : : Mean 3.904
20k EShOWGI’:lOO eV, 9_90 degRMS 0.09568 i RMS 0.1671
taix=0.09% np sol-Time=3:623, Digita. x=0.111.np
Underflow 0 _ Underflow 0
60 , ............... N T - H P .
0 T I N W ol | T
40 _. ............... .......... [
30 e, ‘ ............. “ ............... ‘‘‘‘‘‘‘‘‘‘ - P .I-‘ .............
20 _. ...............
10 ot A— -
i i
0 5 5
Time (ns) Time (ns)
| Upstream: Time in layer 3 | upstream_3] [ Upstream: Time in layer 4 | upstream_4
Entries 586 Entries 0
50 - ............. . A2B 1-_- ............................... . ......... Mean 0
: RMS 0.3142 - : : RMS 0
lta x=0.010 np L Time=0.000, Delta x=0.000 np
. Underflow 0 . . . Underflow 0
A0 0.8 -wmrreeees R P [
Overflow 0 B Overflow 0
Integral 586 : Integral 0
30 ............................... 06 -_ ............................. . .............................. -
OF oo Sl e 0371 EEURUS URR ...............................
10 |t ..... ............... H 02kt .............................. :
0 ' i& ] 0 i ] | ]

Time (ns)

15 2
Time (ns)




